EARAROBREBRT —5 XN—ZXBISH—F

2023538158 (K) 1200#a838

B 575+ reE= Rssm)  Jpn YSRAREOP EEE N
[xE<] 1 7& 40,000,000 @ 2 3&:14,000,000 F .~ 3 37 :8,000,000 F . 4 3 :4,000,000 3 . 5 & :2,000,000 3
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N o, = )| | e :37. -7-6- . - RAREES (PR)
11111 l7ouP LYz 4 # 5 | e 2(3_7)2 7-7-6-2 | 39.1 1 (5_0;) KR
RIFVIARNAN BNy k=L =¥V I 7—1I
= g STEERS :39. -1-1- 5] - HEH (hR)
FUZ AL % 6 | IENW 2 (399) 0 1-1-1-1 | 41,5 4 (4524; Ll
R:FF B:7—U—RTUVT FIRBUS
s < e TEHE 139. -2-2- . - FEEIESR (FR)
XA I TUTY w5 | B 2(319)2 2-2-2-3 | 41.7 3 (5_14(; e
Ry I—=FIII B:YZRI—TA— Elte]
= =_ 33 v 9 | AHEE 2:39.3 4-4-4-4 | 41.5| — 9 521 | NISE— (#a18)
INVFa09>—Ya 77| 5.0 (/2 wg) | B FvOy hIr—k
R:007% B:ILTVVa J—H¥YITr—I
o3 4 | PlEEX 2:40. -5-5-6 | 42.7| — 2 4 | NE—F (PR)
RAVYIRX # 55.0 ((3 6 oot ?fz) JLFEA
RIIZARD—=ILYF— B:UYTFvays = -
<~ 4~ 4 6 | LUIEHE 2:41.0 12-12-11-10| 40.3 | - 7 469 |BHES (i)
6157 |X¥HAY 56.0 %) 45 | AFB—
RTFAIWNITFFH— B:AX—BR =L BHERTY R
O, — 4 5 | HEEE 2:41.2 11-10-10-9 | 41.3 | — | 12 | 539 |&ARFEH (IR
717(11| Z#ILNIL=)b 56.0 (3/4) -y |I\BEX )
RNILYpH—IL BIUNT 4=~ 75> Rigis
- gy : 57 - BRI (KFH)
s Y 3 | ErAxXFARUZ R et~ IR -
RIRITIATAwIDxUT7— BROE—T Bl e
< w6 | IH 2:41.5 10-9-9-8 | 41.6| — | 10 | 515 |@HEL (W)
gkl 4 | HPE2—b 56.0 @) @10y | R MERT—TIL
ReN40 B:Fv—LIVIII #REt raX
. w9 | HE} 2:42.2 3335 |44.6| - 6 | 489 |{EERISA (H:tE)
10/5|8 | 7FF—bub—2 77| %o ) o | ) ILRIF—5TUy KR
RTFAIWNITFE— B:F3vIA ML—2R BHERIY R
{HEFIS 47. -6-8- . - FHAER (o)
1 6| FrYRILRYS #o5 | LR (294}(7;) 5-6-8-11 | 48.1 1 ‘IZ? W%ﬁ
RNYIT—I— B:I-H-bvFS5Y /N
== s 7 | MRS 2:48.8  [13-13-13-12| 45.1| — | 14 | 494 |fPEEBSEF (REHL)
12|7|12| SAT A A 4.0 @® o | @ f—zr7
RIN=YISA B:TAUTPASUR gl BE
5 i 5 | BEEE 2:50.1 14-14-14-13| 45.1| — | 13 | 455 | FPEEBSIF (SEHR)
131814/ NFTOITIU 54.0 ®) @) | B h=257
R:O=IRXAIRXA BHAITITY REpuk: e
= — _ st 7 | fHEAIIE - 9-11-12 — = 8 462 | KBR= ()
813|221 —F vV 56.0 (chit) (-3 | BFESLARS
RiNA40O B:TyRESTR=— BiE #HE
@ 1—F—&BIE(I
13—7F— 2,5,8,10,6,9,1,3,13,4,11,7,12,14
20—7+— 2,5,8,10,9,6,1,3,4,11,13,7,12,14
BEIES /S 2,5,8,10,9,1,3,6,4,11,7,13,12,14
40—7F— 2,1,5,10,8,9,3,4,11,7,6,12,14
[ BN
BB 1 20| | 94 K& 1-2 390 AR 1-2 1,280 3EE 1-2-5 1,090H4
BB 1 120M4 1-5 240 B 1-2 1,670M 3iEH 1-2-5 4,900
2 1801 2-5 390M 5 & 1-2 1,290H4
5 140/ B8 12 1,940H4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




